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DIPLOMA ENGINEERING - SEMESTER - VII EXAMINATION — SUMMER - 2014

Subject Code: 350606

Subject Name: Water Resource Management

Time: Time: 02:30 pm - 05:00 pm

Instructions:

1. Attempt all five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)
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Explain role of any seven agencies in W.R.M.
Explain various methods for determining average rainfall.

Define Hydrology. Explain hydrological cycle with neat sketch.
Write the factors affecting Runoff and Explain any one in detail.
OR
What is rain water harvesting? State and explain any one method of rainwater
harvesting.

Find average rainfall for a rectangular land area PQRS of 60km x 40km size.
Precipitation at P,Q,R and S are 26cm, 24cm, 22cm and 24cm respectively.
Use any two methods.
Enlist and explain the zone of underground water with neat sketch.

OR
Define waterlogging. State causes of waterlogging.
State the advantages and disadvantages of sprinkler irrigation system.

Explain classification of soil water with neat sketch.

The rainfall rates of 30 minutes period are recorded as follows:
2.5,2.5,10,7.5,1.25,1.25,5 cm/hr. If $ingex =3.1 cm/hr, find the net value of
runoff in cm., Wingex and total rainfall.

OR
Enlist the method of rain water harvesting and explain any one of them.
Define aquifer. Explain confined aquifer with neat sketch.

Write the remedial measure to control sea water intrusion.
List the points to be kept in mind while selecting the site for rain gauge station
and classify the type of rain gauges.
OR
Write characteristic of good watershed.
Design the check dam for the data given below.
Depth of water = 18m
Density of concrete = 2.4m
Max. compressive strength in concrete = 280t/m2
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